

BID RESULTS

October 7, 2014 @ 2:00 P.M.

for ALUMINUM WAYFINDING SIGNS

VENDORS		TOTAL PROJECT COST	
1)	Vulcan Signs	\$47,086.90	
2)	Alabama Sign Craft	No Bid	
3)	Creative Sign Designs	\$73,302.00	
4)	Boone Signs	No Bid	
5)	Complete Signs	No Response	
6)	Mitchell Signs	No Bid	
7)	Simply Signs	No Response	
8)	VIC Printing and Signage	No Response	
9)	WRICO Signs	No Response	

BUDGETED:	∑ Yes
AMOUNT:	
ACCOUNT #:	12-665-7297
LINE ITEM:	

Recommendation:

Recommend accepting the lowest responsible bid submitted by Vulcan Signs in the amount of \$47,086.90.

SUMMARY OF QUANTITIES

The following unit prices shall include all labor, materials, overhead, profit, insurance, etc. to cover the bid items listed. Bidder understands that the Owner reserves the right to reject any and all bids. The Bidder understands that he must submit this document with the bid.

ITEM	DESCRIPTION	UNITS	QUANTITY	UNIT COST	PROJECT COST
1	78" WIDE X 108" TALL ALUMINUM BACKBOARD SIGNS, 0.125" THICKNESS	EA	10	1,895.00	18,950.00
2	48" WIDE X 72" TALL ALUMINUM BACKBOARD SIGNS, 0.125" THICKNESS	EA	6	715.00	4,290.00
3	65" WIDE X 11" TALL WAYFINDING ALUMINUM NAMEPLATE SIGNS, 0.080" THICKNESS	EA	50	96.60	4,830.00
4	36" WIDE X 6.5" TALL WAYFINDING ALUMINUM NAMEPLATE SIGNS, 0.080" THICKNESS	EA	30	48.00	1,440.00
5	360 DEGREE BREAKAWAY SIGN MOUNTING DEVICE	EA	42	227.50	9,555.00
6	U-CHANNEL 3 LBS./FT SIGN POST - 4' LENGTH	EA	24	15.45	370.80
7	U-CHANNEL 4 LBS./FT SIGN POST - 5' LENGTH	EA	60	23.82	1,429.20
8	U-CHANNEL 3 LBS./FT SIGN POST - 12' LENGTH	EA	24	44.10	1,058.40
9	U-CHANNEL 4 LBS./FT SIGN POST - 14' LENGTH	EA	32	80.50	2,576.00
10	U-CHANNEL 4 LBS./FT SIGN POST - 15' LENGTH	EA	4	86.25	345.00
11	U-CHANNEL 4 LBS./FT SIGN POST - 16' LENGTH	EA	20	92.00	1,840.00
12	U-CHANNEL 4 LBS./FT SIGN POST - 17' LENGTH	EA	2	97.75	195.50
13	U-CHANNEL 4 LBS./FT SIGN POST - 18' LENGTH	EA	2	103.50	207.00
				TOTAL	\$47,086.90

SUBMITTED BY: VULCAN Signs

FOI City of CY



Rairoad Museum



Civic Center



Medical Museum



Tanger Outlets

3 6



Lambert's Cafe









